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2018
ZOOLOGY - GENERAL

First Paper
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version |
The figures in the margin indicate full marks.
1. Answer any fen questions : 2x10
(a) What is conjugation?
(b) What is chiastoneury?
(c) What do you mean by Microphagy? Give example.
(d) Define open circulation.
(e) Why obelia colony is called a trimorphic colony?
(f) What is choanocyte?
(g) Distinguish between hnRNA and mRNA.
(h) Write the function of DNA-Ligase.
(1) Define genetic RNA. Mention its property.
()) What is flip-flop mobility?
(k) What is G phase?
(I) Define spermiogenesis.
(m) What is telolecithal egg?
(n) Distinguish between choriovitelline and chorioallantoic placenta.
(0) What is spermalysin? Mention its function.

(p) What do you mean by hemizygous condition?

Group - A
Answer Question No. 2 and any two more questions from the rest.
2. lustify any four of the following statements with proper reasons : 2x4
(a) Sea-urchin is an echinoderm animal.
(b) Obelia sp. is a hydrozoan animal.
(¢) Nereis sp. is a Polychaeta.
(d) Octopus sp. is a cephalopod animal.
(e) Plasmodium sp. belongs to phylum Apicomplexa.

(f) Mosquito is an insect.

3. (a) Mention the name of respiratory organs found in Pila sp. Draw and describe the structure of aquatic
respiratory organ of Pila sp. :

(b) Draw and describe the structure of heart in cockroach. (2+4)+4
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Define metagenesis. Describe metagenesis in the life cycle of obelia sp.
Describe the structure of digestive tract of cockroach with labelled diagram. (2+4)+4

Distinguish between phagocytosis and pinocytosis.
Make an illustrative description of the septal nephridia in earthworm.

What do you mean by stomatogastric nervous system? 2+(4+2)+2

Describe the nervous system of Apple snail.
Discuss the budding mode of reproduction in Hydra sp.

Write a brief note on multiple fission in Amoeba sp. 4+3+3

Group - B
Answer any two questions.
With a suitable experiment prove that ‘DNA is the genetic material’.
What do you mean by denaturation and renaturation of DNA?
Mention the initiation and termination codon of protein synthesis.
What do you mean by checkpoints of cell cycle? Write the function of G2 checkpoint.
5+3+2(2+2)
Differentiate between complete and incomplete linkage of Drosophila.

Comment on the pattern of inheritance of colour-blindness in the next generation if a normal male

marries with a colour-blind female.

(©)
(d)

. (a)

Explain Genic balance theory in sex determination of Drosophila.
What is linkage group? 2+4+6+2

Describe the structural orientation of various proteins following fluid mosaic model of plasma

membrane.

(b)
()
(d)

(a)
(®)
(c)
(d)

Write the significance of freeze fracture technique.
Comment on the proof reading of DNA replication.
Discuss the structure of DNA as proposed by Watson and Crick. 4+2+345

Mention the characteristics of Z-DNA.
Write the main differences between DNA replication and transcription.
State the role of RNA polymerase in transcription.

Make an illustrative account of elongation phase of translation in E.coli. 3+3+3+5
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Group - C
Answer any two questions.

What is polyspermy? Mention the process of fast block to polyspermy in fertilization of

Sea-Urchin.

(b)

(a)
(b)
(©)

(a)
(b)
(©
(d)

Define cleavage. Describe the process of cleavage in Amphioxus with labelled diagram.
(2+4)+(2+4)

Describe the formation of yolk sac in chick embryo with diagram.
Write the different planes of cleavage.
Classify placenta based on the distribution of villi with diagram. (3+1)+3+(3+2)

What is aerosomal reaction?

Describe a typical spermatozoon with labelled diagram.

Write the difference between epiboly and emboly.

Classify the types of cleavage based on amount of yolk. 3+4+2+43

Write short notes on (any three) : 4x3

(a)
(b)
(c)
(d)
(e)

Sertoli Cell

Fertilization membrene

Blastocoel

Cell movement during gastrulation

Function of placenta
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